
フッキー計算ドリル
分数の計算　帯分数×帯分数 ①

6年　　組　氏名　　　　　　　　　　　　　　　　

1 3

4 5

3 1

5 3

1 1

5 4

1 2

3 5

3 3

7 8

4 1

5 5

1 2

2 3

3 1

5 8

／８ 分 秒

1

2

2

1

3

2

⑦

⑧

①

②

③

④

⑤

⑥

2 ×

2 ×

2 ×

2 × ＝

2

＝2 ×

2 × ＝

＝

＝

1

1

×

1 × ＝

＝

＝



分数の計算　帯分数×帯分数① 解答

1. 1 3 9 × 8 72

4 5 4 × 5 20

2. 3 1 13 × 7 91

5 3 5 × 3 15

3. 1 1 11 × 9 99

5 4 5 × 4 20

4. 1 2 7 × 7 49

3 5 3 × 5 15

5. 3 3 17 × 27 459

7 8 7 × 8 56

6. 4 1 9 × 11 99

5 5 5 × 5 25

7. 1 2 5 × 5 25

2 3 2 × 3 6

8. 3 1 13 × 9 117

5 8 5 × 8 40
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